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Note : Questionno.1is compulsory. Attempt any six questions
from questions no. 2 to 10.

1. (a) Give botanical names of one plant each that 5
(i) yields cork.
(i) yields tea.
(iii) yields charas.
(iv) yields atropine.
(v) yields turmeric.
(b) Explain the following in one or two lines : 5
() Replum
(i) Pollinia
(i) Cystoliths
(iv) Diacytic stomatal complex
(v) Sedatives
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2.
(3
(b)
(©)
(d)
(e
3. (a)
(b)
4. (a)
(b)
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Write the morphology of the plant partfrom
which the following are obtained

(i)  Saffron

(i) cabbage

(i) Khus

(iv) Cotton fibre

(v) Edible part of litchi

Draw labelled diagrams of the following :

T.S. Coralloid root of cycas
(outline diagram)

LS. Apple fruit
Amphicribral V.B,

Rice spikelet

C.S of Potato tuber

Describe with the help of diagrams, five
diagnostic floral features of Malvaceae/
Asclepiadaceae.

What are trichomes. Describe the different
types of trichomes.

Describe any five diagnostic features of the
family Musaceae /Poaceae.

Describe the economic importance of
Poaceae family.

10



5. (a)

(b)

With the help of labelled diagrams, describe
the various components of xylem tissue.
How do pollination and fertilisation take
place in Pinus?

6. Differentiate between the following :

(@)
(b)
()
(d)
©)

7. (a)

(b)
8. (a)

(b)

Sieve tubes and Vessels

Collateral and Bicollateral bundle
Parenchyma and Sclerenchyma

Long shoots and Dwarf shoots of pinus
Vegetable oils and essential oils

“ Gnetum approaches angiosperms in some
respects” comment.

Describe the processing of Cocoa.

Write any two theories that explain

phylogeny of Carpel.

Comment on the co-evolution between a
plant and its pollinator with special
reference to Yucca.

9. Write short notes on :

()
(b)
(©
()

Lenticel

Bast fibres

Importance of legumes
Cyathium inflorescence

10. Describe any five features of angiosperms that

make them the most dominant group of plants.
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